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Open Book

Find the scattering matrix § of the doubly-terminated lattice two—port shown
below, at /=400 MHz . The element values are I = 10 nH, C =4 pF, R =50

a. FindZand Z,,; o R B L e ;Qiix
b. Find ¥,,; - B /
c. FindS. —AM @W\( VWV 1
5O o< QR
| O -
| L

Find the output current J,, in the ladder circuit shown. (Hint: use
interreciprocity for fast results.)

a. The opamp used in the active-RC stage shown has a finite gain A4, at all
frequenc1es Find the transfer function H(s). = Vi | V;, of the stage.
b. Assume next a finite unity-gain frequency w,, for the opamp, so its gain is

A(s) = dy/ [1 +5 Ag/w,] . Find H(s).
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